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100,000& = 3% * 23| 600
= 300
o 90
Al 210
301 LBt A= 9,840 9,840 0
= 4,920
o= 1,476
Al 3,444
01 AISIE & A 252 9,840 9,840 0
O S A 22lAISEH XY 492,0008 = 20Y 9,840
= 4,920
= 1,476
Al 3,444

SgtAtdl 22l X (XA 7,000 7,000 0
201 LBt | 7,000 7,000 0
01 AP 22| d| 7,000 7,000 0

O 9&s8 SAMHA CHHAM HIE

5,000,000& = 1Al 5,000
O 22T TAAN 42, BEW S HE

2,000,000& = 1Al 2,000

SHSES 0l SAMHA 393,902 368,457 25,445
101 Q124 H| 328,302 268,022 60,280
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SA BB (3H) - NRAY - B Ol At o %E& HRE2
VPIEEEP =P 328,302 268,022 60,280
O g2is =X2CU0IH 328,302
o o=l
8,350 * 4Al2F x 5Y x 27 « 48=F 216,432
o Fi4g
8,350 * 4AI2F x 1Y % 278 * 48=F 43,287
o MEZ HANE 6,687,360& * 1A 6,688
o HXgaxY
8,350% * 4A|2F » 27 x {1&€ 9,920
o nWEH| 3,000& * 5 x 27X « 48%F 19,440
o AISIEEZ= 32,534, 211& = 14! 32,535
301 LBt A= 65,600 66,350 AT750
09 HAIAHI EAZ 65,600 66,350 AT750
O 0l - Is=EXcd A& Adl2a
65,600,000 * 14! 65,600
S0s UFE SEAMHA & 226,800 226,800 0
= 158,760
o= 20,412
Al 47,628
201 et | 90,720 113,400 A 22,680
= 63,504
= 8,165
Al 19,051
01 AFR 2t 2| bl 90,720 113,400 N 22,680
O SHE Atdl&el X
3,360,000 * 274 2 90,720
= 63,504
= 8,165
Al 19,051
301 et A= 136,080 113,400 22,680
= 95,256
o= 12,247
Al 28,577
01 Al E& A 252 136,080 113,400 22,680
O S8Hs Atdl&tel X&
5,040,000& = 274 2 136,080
= 95,256
& 12,247
Al 28,577
AN EEEE 22| 5,730 0 5,730
201 2Bt Ayl 4,200 0 4,200
01 AR 2t2l ] 4,200 0 4,200
O gbtx==2H| 3,000
o ANIBEZSH ==X AHUHE M
200 = 5,0000H 1,000
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= 0N
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365,206
52,173
104,345
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& 521,724 536,911 N 15,187
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55,083
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NEASEX 85 235 (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O XNEXEME &3t
23,274,000 » 204 A& 46,548
= 32,584
< 4,189
Al 9,775
NAT&EdH 29 () 4,500 4,500 0
307 gl2tol & 4,500 4,500 0
10 AL SXAIEEE2EH EX 4,500 4,500 0
O &g XY NHEdH MR JUHE(Ft
) 4,500,000 = 1004 4,500
NAX&dyH 29 (%4l) 62,587 62,587 0
< 31,293
Al 31,294
307 21201 A 62,587 62,587 0
< 31,293
Al 31,294
10 Al SXAIEEE2EHEX 62,587 62,587 0
O XNHEXEHE SAL SE=E
70,000& = 11 = 128 9,240
< 4,620
Al 4,620
O XNAXEdH XHEAd2el A X
53,347,000& * 14 53,347
< 26,673
Al 26,674
Ol ==Al AtSI=XIEH0LE & A 16,400 4,500 11,900
307 21201 A 16,400 4,500 11,900
04 QIZFHALAIR B = 16,400 4,500 11,900
O M =RetOtEHAL XA
16,400,000& * 13 16,400
NEASIEZEAN 29 XA 113,000 113,000 0
< 6,000
Al 107,000
301 et a = 27,000 27,000 0
09 &AL HI B A S 27,000 27,000 0
O S8s NIAAEEEAM AHl E&=
1,000,000 = 2700 & 27,000
307 21201 A 86,000 86,000 0
< 6,000
Al 80,000
03 QI HE2IEHEx 61,000 61,000 0
O W==AXNGASEZE2AN 2Ll
61,000,000& = 10024 61,000
< 6,000
Al 55,000
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Al 214
01 2Ll 1,020 1,520 A 500
O XYM AHEA EXAIY 24
20,000 * 3H « 1,020
g 714
& 92
Al 214
308 XAHXIGHH SO0l & 1,442,000 1,230,357 211,643
Fag 1,009,400
= 129,780
Al 302,820
10 27|25 EF A HI 1,442,000 1,230,357 211,643
O XA AFE
1,442,000,000& = 1,442,000
g 1,009,400
= 129,780
Al 302,820
AN EXAIE 29 XS 3,966,996 2,511,310 1,455,686
= 1,543,819
& 224,229
Al 2,198,948
SAIE S XS 2 2 2,133,628 1,923,980 209,648
= 27,600
Al 2,106,028
201 LBt 49H 1,800 1,800 0
01 AL 22| 1,800 1,800 0
O g29xd¢ 1,800
o ZEMNISNT 2% LAV Holx
= 100,000€ * 9¥H « 23| 1,800
307 QI2t0| ™ 2,131,828 1,922,180 209,648
& 27,600
2,104,228
05 QIZ2H| E 2,076,628 1,871,900 204,728
O AMF=X 29 (4HA) 2,076,628
o = k!
609,710,000& 609,710
o A2 2
477,048,000 477,048
o 2 e
540,742,000 540,742
o 0l = Xl 2t
449,128,000 449,128
10 AFEI S XAl b 28X 55,200 50,280 4,920
O A3l X2 SAH EgxH 55,200
o NESEH
100,000& * 12 » 12&€ 14,400
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Al 7,200
o ACHESEAS =X 2
100,000& » 11H » 128 13,200
< 6,600
Al 6,600
o 2=3IEAMII=EX 2
100,000& » 12% » 128 14,400
< 7,200
Al 7,200
o DESEAMII=X 2
100,000& = 11H » 123 13,200
< 6,600
Al 6,600
SEMEX2 JIsEZAHY 83,300 0 83,300
401 Al HIZ 201 I 83,300 0 83,300
01 A& HI 82,670 0 82,670
O AESZEAI=ERNZ XS F=2A
70,000,000& * 99.1/100 69,370
O ASSEMI=R2 01024 HH(HH &
E) WA 5,200,000& = 14 5,200
O AHBEMI=RZ Molns dF(L4H &
) WA 8,100,000& = 14 8,100
03 A& 2 THHI 630 0 630
O AESZEAI=ERNZ XS F=2A
70,000,000& * 0.9/100 630
L0 SXAE 29 (%4l) 12,840 12,840 0
< 6,420
Al 6,420
307 gl2tol & 12,840 12,840 0
< 6,420
Al 6,420
10 AL SXNAIEEE2EH EX 12,840 12,840 0
O =0 SXAME AL SE2¢(22d) 12,840
o AMISXNANAS AXA
100,000& = 3H = 12& 3,600
< 1,800
Al 1,800
o ZERHAS 2K K
70,000& = 1198 » 12& 9,240
< 4,620
Al 4,620
C==TAE 2 634,028 571,290 62,738
= 443,819
< 190,209
307 glz2tol & 634,028 571,290 62,738
= 443,819
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S MSEXAE 23 N (&)
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 190,209
10 ALSISXAIEEE 22X 634,028 571,290 62,738
O L=o =2XAE 2FH(22)
634,028,000& = 1JH A 634,028
2 443,819
< 190,209
=0l - #eyit 75 3,200 3,200 0
307 glz2tol & 3,200 3,200 0
01 22272l 3,200 3,200 0
O @l - == 25Hl K& 3,200
o 4 Hl 7,000& = 1009H 700
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AMERHME XA 1,100,000 0 1,100,000
= 1,100,000
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= 1,100,000
0B M ERRIABAS 1,100,000 0 1,100,000
O Jlz= 930,000,000& * 14 930,000
= 930,000
O m=l 40,000,000& * 14l 40,000
= 40,000
O sl 130,000,000& * 14 130,000
= 130,000
HE2AZHI (AL S X2 (JIEH/IIE) 413,051 347,789 65,262
= 106,885
< 23,770
Al 282,396
el 2 238,464 165,256 73,208
= 106,885
< 23,770
Al 107,809
ol 2| 8,629 7,857 772
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03 RIAHAZZ2HE = 8,629 7,857 772
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Al 69,817
101 @124l 172,819 104,508 68,311
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O MEASA ZOUIOIH X (XHA)
o ZHUOHI (M SAX 22l)
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A AMIEX
M HM2HAH|(ALSI =2 X D) (IIEH/DIE)
ch: JI24dd| (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
Jl2 &4l 174,587 182,533 AT ,946
201 gBt24d| 98,893 105,883 6,990
01 AP 22| H| 96,013 102,283 NG,270
O =2 SHH A 41,397,000 * 14! 41,397
O 829 SHH A 3,000,000& = 14 3,000
O S2Hl sHH A 51,616,000 * 14! 51,616
02 2=2=24%4| 2,880 3,600 ANT20
O 2222 2 MM SHAHA
1,000,000 * 14! 1,000
O XEHErH] = oHH A 1,880,000& = 14! 1,880
202 044l 64,694 67,650 A 2,956
01 2L I 64,694 67,650 A 2,956
O BASE S HHA 64,694,000& * 14 64,694
203 R F & 11,000 9,000 2,000
01 JI22HYRFAH| 5,000 3,300 1,700
O AM3EX=22 5,000,000& = 1H 5,000
04 ENSIELRF=XH| 6,000 5,700 300
O A3 2 X H(509)
(400,000€ + (5,000 = 20H)) * 12& 6,000
HEES= (AR (AMEEX/FNAHSKH) 4,698,086 5,108,378 AN410,292
WEAHAXI= 4,698,086 5,108,378 AN410,292
LHEAHH K= 4,698,086 5,108,378 AN410,292
701 JIEISI HSHEE=2 4,638,086 5,048,378 AN410,292
01 JIEIS HE &2 4,638,086 5,048,378 AN410,292
O s 30II2EEIH &2
4,638,086,000& = 14! 4,638,086
702 1282 60,000 60,000 0
o1 J1=2ds2 60,000 60,000 0
O M3EXIIS FE2(AASEFUNEHESS)
60,000,000 * 14! 60,000






